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QUESTION 1

When must a report author use the caption function? 

A. As the first parameter of the roleValue function. 

B. To return the display name for thespecified business key. 

C. To see the string display name for the specified element. 

D. To pass the returned value to a drill-through target report, this expects a matching string as a parameter value. 

Correct Answer: D 

 

QUESTION 2

When a report author inserts Revenue into the Measures area of a blank crosstab report, which of thefollowing
statements is correct? 

A. The report author has implicitly set the default measure for the crosstab report to be Revenue. 

B. The report author must verify the aggregation properties of Revenue to make sure it will display correctly. 

C. Thereport author has declared a currentMember function to return the Revenue data. 

D. The report author must validate the expression for Revenue to ensure there are no crosstab errors. 

Correct Answer: A 

 

QUESTION 3

Of the following prompt syntax expressions, which two are considered to be dimensional? 

1) -> ?? 

2) in (??) 

3) = ?? 

4) set( -> ??) 

A. 1 and 4 

B. 1 and 2 

C. 2 and 3 

D. 3 and 4 

Correct Answer: A 
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QUESTION 4

Based on the crosstab displayed, the report author creates a singleton using the tuple function as follows:
tuple([Camping Equipment],[Revenue],[2006]). 

Which of the following will appear in the singleton when the report is run? 

A. Camping Equipment, 500,382,422.83, 2006 

B. 500,382,422.83 

C. Camping Equipment, Revenue, 2006 

D. Nothing, singletons are notdimensional objects. 

Correct Answer: B 

 

QUESTION 5

A report author creates the following nestedreport using 2 adjacent levels of the same hierachy. Users should be able to
drill down on the inner nesting with the outer nesting remaining unchanged. 

What advanced drilling behavior should the report author use to achieve this? 

A. Replace Expression 

B. Depth Based Expression 
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C. Preserve 

D. Replace Item 

Correct Answer: C 
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